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Question Number : 1 Question Id : 7935232701 Display Question Number : Yes Is Question
Mandatory : No

The word ‘Statistics’ 1s used as:
'VEIVT Y @R DT QT 0NN D:
Options :

1. Singular
1% D8TIN0

2. Plural
2o VIO
2. %
3. Both
- D0
4. None of the above
i 4 B B By
4, %

Question Number : 2 Question Id : 7935232702 Display Question Number : Yes Is Question
Mandatory : No



The variable “Income” 1is variable.
HOAH2DO "e8TTONO" HOCHO.

Options :

1. Discrete

Hop

2. Continuous

- AB0ed
3. Ordinal
3050
3. %
4. Nominal
%) 00" €90)
4, %

Question Number : 3 Question Id : 7935232703 Display Question Number : Yes Is Question
Mandatory : No

Data taken from the publication, “Economical census in India” will be considered as
08 K08 SEES BEr, "riaTios a8 s k! T
RO ONARNEN A

Options :

1. Primary data

BTN Ber



2. Secondary data

OO ey
2. ¥
3. Simple data
. 0 Ber
4. Derived data
€565 300) 0 TEF
4. %

Question Number : 4 Question Id : 7935232704 Display Question Number : Yes Is Question
Mandatory : No

Which of the following represents data?
80 57¢365 DO BEFD AFDNOE?

Options :

1. a single value

2,8 e
1. %
2. only two values in a set
- DA’ DO DENIN S5
3. a group of values in a set
L DB DS DO

4. None of the above

D o) B

4. %



Question Number : 5 Question Id : 7935232705 Display Question Number : Yes Is Question
Mandatory : No

Statistics deals with

OTE P38 ) &S Twod,

Options :

1. Numerical data

R e Bey
2. Categorical data
) HO8Sen ey
3. both (1) and (2)
. (1) DO (2) DO
3. ¢

4. None of the above
DI S

Question Number : 6 Question Id : 7935232706 Display Question Number : Yes Is Question
Mandatory : No

Trend in a time series mean
000D 1FBS’ (B0H @008

Options:

1. long term regular movement

v A5 O ey Bea EESODE



2. Short term regular movement
D 58 arrded )X

2. %
3. Both (1) and (2)
(1) DOCN (2) DO
3, %
4. None of the above
\ 209 22 B

Question Number : 7 Question Id : 7935232707 Display Question Number : Yes Is Question
Mandatory : No

Data which is collected from the respondent directly is
(€37 DO DA WEOODD Ber

Options :

. Primary data

- BrGNE Tex

2. Secondary data
630D Ber
2. %
3. Simple data
06 TEY
3. %

4. Derived data
€566 109 A TBEF



Question Number : 8 Question Id : 7935232708 Display Question Number : Yes Is Question
Mandatory : No

In usual notations of sampling. the formula for sampling fraction is
e300 O0E), TGN DOSTOES, e 8)69) 0 500 (50

Options :
N
. L. =
n
2. =
N
2. ¢
" N
e 2
3 % 1
n
4. 4=
4, % ‘

Question Number : 9 Question Id : 7935232709 Display Question Number : Yes Is Question
Mandatory : No

. In Stratified random sampling. Neyman allocation 1s also called
(3B OG0 Samre’, B SErom0s)Rd §ra 2enard

Options :
1. Optimum allocation

Lo N0 BE 000N

2. Fisher’s allocation
DAD Teronod



3. Proportional allocation

; TPATr SEFON0N)
4. Random allocation
ASTCIHD NS BETFONOD)
4, %

Question Number : 10 Question Id : 7935232710 Display Question Number : Yes Is Question
Mandatory : No

Whether classification is done first or tabulation?
50888 INAE DOHDE 0T B HEIET S0?

Options :

1. Classification follows tabulation
S5OEBEd HEIED €O

1.%
2. Classification precedes tabulation
- HOEGE HEIBBY DO HOENOO
3. Both are done simultaneously
DO 2,370 280H & 0w
3. %

4. No criterion

(233°690 B



Question Number : 11 Question Id : 7935232711 Display Question Number : Yes Is Question
Mandatory : No

The headings of the rows given n the first column of a table are called:
2 Tnche e BN B 13 et Side 3050 90eT 8

Options :
1. Stubs
Q
1.¢ 99

2. Captions

&
- 208en
3. I‘E'fE'l'E‘IlCE notes
i} AP HaddedEen

3.

4. Titles

IOV AN DY)

4. ®

Question Number : 12 Question Id : 7935232712 Display Question Number : Yes Is Question
Mandatory : No

The column heading of the table is called:
HEE ) 08 @0 A:

Options :

1. Stubs
SNEAN

2.



2. Captions
2050

3. Sub titles
& 208en

4. Titles
20N

Question Number : 13 Question Id : 7935232713 Display Question Number : Yes Is Question
Mandatory : No

. The Central Statistics Office was started in India at
0[O TE3VE ) &R 2P BSHTFOES [P0 0IDA0E

Options :

1. 1951
1.«

2. 1961

3. 1972

4. 1952

Question Number : 14 Question Id : 7935232714 Display Question Number : Yes Is Question



Mandatory : No

The series.

Place No. of patients
Delhi 200
Kolkata 210
Indore 190
Chennai 310

is the type of:

8D,

D0 e Hows
9] 200

FHEe 210

2085 190

353 310

S¥o:

Options :

1. Spatial Classification
D38 SOEBe

2. Geographical Classification

2T NDE 5085

2. ¢

3. Chronological Classification

50 69055



4. Quantitative Classification
DOITET 58 OB S8
4, %

Question Number : 15 Question Id : 7935232715 Display Question Number : Yes Is Question
Mandatory : No

Frequency of a variable 1s always
SO0DDO TBNEY, (DBLN.) D)) &OEN0O
Options :
1. Integer

e 4 e
1.4 Dg?(? @D&Jﬂ

2. a fraction

2,8 2D 0
2. %
3. in percentage
. TSBOS
4. in proportion
DS
4. %

Question Number : 16 Question Id : 7935232716 Display Question Number : Yes Is Question
Mandatory : No



In Design of experiments, the repetition of treatments under mvestigation is known as
DTBFTE ErdoINe, HOFHIS ted) N8B IO ST B0 DGO
TolARON

Options :

1. Local Control

08 QOO €5
1. %
2. Randomization
T 0GB
2. %
3. Replication
» (203870
4. Experimental Error
(DTe88 D0
4, %

Question Number : 17 Question Id : 7935232717 Display Question Number : Yes Is Question
Mandatory : No

. Index numbers can be expressed

HPDE HOPHEEN 580 DO
Options:

1. 1n ratios

DB’



2. in terms of absolute value
DOSI*Y eI DGO

3. in percentages

e TEOS
4. All the above
DX 0TS,
4.

Question Number : 18 Question Id : 7935232718 Display Question Number : Yes Is Question
Mandatory : No

A frequency distribution may be
(D) DODED ST )

Options :

1. Discrete

L

2. continuous

, QB0eHS
3. both (1) and (2)
(1) OO (2) DO
3.

4. %



4. an integer
2,5 oJ°Qr080

Question Number : 19 Question Id : 7935232719 Display Question Number : Yes Is Question
Mandatory : No

Charts and Graphs are used
23°000 AW (TPREN S POV TO IR IHOW

Options :

1. to comparison of values
DENHE FEEBL

2. to know the trend

) 05 BN HEVE
2.
3. to know relationship
HODOE0 BENNT TS
3. %

4. All the above

DS DT 50
4.

Question Number : 20 Question Id : 7935232720 Display Question Number : Yes Is Question
Mandatory : No

Identify the one-dimensional diagram from the given options.

B0 )N DO DMOG 2.8 BRI VP R(EQ), HhB00&.



Options :

1. Bar Chart

v 20 @

2. Pie Chart
. 290

3. A graph

28 [T

3. %

4. Rectangular diagram
. AlOInTz Vel huisiHeRerA RN 510

Question Number : 21 Question Id : 7935232721 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a two dimensional diagrams?

806 e36S DA BOE BIHVIS DD ETFeN SC0?

Options :

1. Pie Chart

Rage
1.%
2. Rectangular diagram
aielnl: Ve hwsdeNeludaltle
2. %

3. %



-

3. square diagram
HAED) VP50

4. Multiple Bar Chart
2570 230 ©°Q
4.

Question Number : 22 Question Id : 7935232722 Display Question Number : Yes Is Question
Mandatory : No

The co-efficient of correlation and regression co-efficients have sign.
SOTNN OO B Hease Heado DS OB G0N0

Options :

1. Different

. )2)A))
2. same
- TR
3. opposite
RIar oMk
3. W
4. None of the above
0 B
4. %

Question Number : 23 Question Id : 7935232723 Display Question Number : Yes Is Question



Mandatory : No

. Any function 1s derived from the population called a
2500727 OB SNEDAED @) POE.S o

Options :

1. Statistic
Hear0d

2. parameter

DT e
2. ¥
3. Hypothesis
SNSRI
3. %
4. Sample
I
4, %

Question Number : 24 Question Id : 7935232724 Display Question Number : Yes Is Question
Mandatory : No

Probability of type I error 1s
B350 1 650 TINE), D02Tsdseh

Options :

1. Level of significance

[P0 §ES TOW



2. Size of critical region
SA (P00 DOATEIO

3. Both (1) and (2)

(1) DB (2) DOST
3.
4. Power of the test
L HBE BwE) 48

Question Number : 25 Question Id : 7935232725 Display Question Number : Yes Is Question
Mandatory : No

. Histogram is suitable for
(T @9cNEFOOT &0LNOO

Options :

1. Nominal data

DT b)) BEF°
1, %
2. Ordinal data
39O By
2. %
3. Continuous data
DSOS e
3.¢



4. Categorical data
HQEBe Tey

Question Number : 26 Question Id : 7935232726 Display Question Number : Yes Is Question
Mandatory : No

Pictogram are shown by

RS LaiSY, O° S0° TNV B0E
Options:
1. Dots
(RVEPEDY
1. ®
2. Picture
, ¢ IS0
3. circles
)N
3. %
4. lines
DO5LEN
4. %

Question Number : 27 Question Id : 7935232727 Display Question Number : Yes Is Question
Mandatory : No

Ogive curves are used to find
200 d(8eden SISV &R R v S IOV T INFAT TS OW

Options :



1. Median

e PO
2. Arithmetic mean
. e9051eded OrfeD
3. Mode
PR VR
4. Correlation
QoI 02D0C0
4, %

Question Number : 28 Question Id : 7935232728 Display Question Number : Yes Is Question
Mandatory : No

Vital Statistics mainly deals with .
S0P HEFOTEN DT § D020Q0DI.

Options :

1. births
2309260

2. deaths
QTN

3. marriages
“ IR DY



4. all of the above
D E) )

4.+

Question Number : 29 Question Id : 7935232729 Display Question Number : Yes Is Question
Mandatory : No

What percentage of values is greater than 3™ quartile?
3.3 B8 0 B0T) D064 F°EH0 NN )B02.6)?

Options :

1. 75 percent

75 3¢50
1. %
2. 50 percent
5 % 50 F*ed0
3. 25 percent
25 310
3.¢
4. 5 percent
4 % 5 340

Question Number : 30 Question Id : 7935232730 Display Question Number : Yes Is Question
Mandatory : No

. If the two observations are 20 and -20. their arithmetic mean is
B0 DO 20 HOCI -20 oS, o3¢S 0%KeSes difen

Options :



1..20

Question Number : 31 Question Id : 7935232731 Display Question Number : Yes Is Question
Mandatory : No

. Choose the appropriate formula for Z score.

Z &).0 500 0 067 DotHE0B

Options :
X—H
1.2 :TL
1.
Xl
2. 2 _F
2. %



Question Number : 32 Question Id : 7935232732 Display Question Number : Yes Is Question
Mandatory : No

. Median divides the whole data into equal parts.
30500 JNEBO TETD QAT 2TV D252N0A.

Options :

1. Four
- e

2. Two
5 DO

3. Ten
3. % 2O

4. Hundred

ol

4. %

Question Number : 33 Question Id : 7935232733 Display Question Number : Yes Is Question
Mandatory : No

Mode is that value in frequency distribution which possesses

& 9RO DBLDY DODBS’ &) DeENS

Options :

1. Maximum frequency

Lo HORDS. HS50

2. Minimum frequency
A Y. )50



3. Arithmetic mean
eo08ieded e

4. frequency one
(DS 2,83

Question Number : 34 Question Id : 7935232734 Display Question Number : Yes Is Question
Mandatory : No

The number of partitions in case of quartiles 1s

5535 ) DAOHOES” D253 HOW§
Options :

1. 10

1. %

2. 8

o)
N

4 4.4

Question Number : 35 Question Id : 7935232735 Display Question Number : Yes Is Question
Mandatory : No

From the following, which is measure of dispersion?
80O ae3eS, 55 Fored DE?



Options :

1. Arithmetic mean
e 08Meded Drfen

2. Median

2. %
3. Standard deviation
(0770357638 DTIOR0
3.
4. Mode
IRANE
4, %

Question Number : 36 Question Id : 7935232736 Display Question Number : Yes Is Question
Mandatory : No

. Sum of the dewviations of the observations about mean is
KN HBOD) NOIONE H5EEsare IO

Options :

1. Zero
- oded®)

2. Maximum
e 1108

3.1



4. Minimum

B

Question Number : 37 Question Id : 7935232737 Display Question Number : Yes Is Question
Mandatory : No

The National Statistics day 1s

20D FEFOTO OS50

Options:

1. 15 August

15 estie
1. k3
2. 29 June
29 237
2. ¥
3. 20 October
y £
, x 20320
4. 14 November
, 14 SH020D

Question Number : 38 Question Id : 7935232738 Display Question Number : Yes Is Question
Mandatory : No

The limits for rank correlation coefficient are given by
07508 Q00200 80 A3nE) DB e



Options :

i, -1 £ p1
1.¢

2.0= pzl
2. %
- 3.p=0

4. p<0
4. %

Question Number : 39 Question Id : 7935232739 Display Question Number : Yes Is Question
Mandatory : No

Third quartile 1s also called
07835 5° SDO €9 S0 @90Ey 0

Options:

1. Median
SV alie

2. inter quartile range

Q005 3O HOG
2. %
3. lower quartile
&N 5530
3. %

4.



4. upper quartile
DD 55RO

Question Number : 40 Question Id : 7935232740 Display Question Number : Yes Is Question
Mandatory : No

. In Index numbers theory. Po1 X Pio =1 15
2035 ) DoWES D050, P X Pio =1

Options:
1. Unit test
0D HOE.
1. ®
2. Time reversal test
T 63O B
2. &
3. Unit reversal test
A5°E] BB Bow
3. %
4. MP test
, MP HOE

Question Number : 41 Question Id : 7935232741 Display Question Number : Yes Is Question
Mandatory : No

If V(T1) =V (T2). then

Options :



1. T;1s more efficient estimator than T»
T2 0% T1 0006 HNTI0SFD 900"

1. ¢
2. T>1s more efficient estimator than T,

, T1 50 T2 00065 HeNPI0eHD 90T

3. Tiis sufficient estimator
- T1 505068 @00

4. T 1s sufficient estimator
T2 ¢5Nc00ed @OTI®

4, %

Question Number : 42 Question Id : 7935232742 Display Question Number : Yes Is Question
Mandatory : No

The maximum likelihood estimators are necessarily
(506 02T O0IT TN 55 YRS &G0oEe)

Options:

1. Unbiased
Dol ggé@&’)i}

2. sufficient
> OO0

3. consistent
3. % NN



4. unique

Nt

Question Number : 43 Question Id : 7935232743 Display Question Number : Yes Is Question
Mandatory : No

The degrees of freedom for statistic-t for paired t-test based on n pairs of observations is
N 2366 0300 SEFE0T 26 T €3-Bg) 500 fEPose Des)

gy, Ghex

Options:

1. 2(n-1)

-

2n-1

Question Number : 44 Question Id : 7935232744 Display Question Number : Yes Is Question
Mandatory : No

For a symmetrical distribution, the relationship between Mean, Median and Mode 1
05 0D 50, add, 3R SOCKN TP 513 D000

Options :

1.9



1. Mean = Median = Mode
Affen = 050 = Frd

2. Mean < Median < Mode

DEN <NV <&
2. %
3. Mean >Median > Mode
DEN> 050> JIrG
3. % o
4. Mean # Median # Mode
\ QONEN # NESD # B

Question Number : 45 Question Id : 7935232745 Display Question Number : Yes Is Question
Mandatory : No

The value of Kurtosis (1) can be
S00°29) DN (B2) S0

Options:

1.3

Tad

LS |

4. All the above

L DS &9 )



Question Number : 46 Question Id : 7935232746 Display Question Number : Yes Is Question
Mandatory : No

The formula for Skewness (f£1) 1s
Skewness (B1) 500 Q€50

Options :

-2
=
o+

¥
-
[-a

Question Number : 47 Question Id : 7935232747 Display Question Number : Yes Is Question
Mandatory : No

If f2> 3, the curve 1s
Br>3 90N, ek

Options :

1. Platy kurtic
re3 505



-2

. Meso kurtic

P 80T
2. %
3. Lepto kurtic
S8 505
3.¢

4. Normal
4 % PO

Question Number : 48 Question Id : 7935232748 Display Question Number : Yes Is Question
Mandatory : No

The second order central moment is

B0 (8500 30| §.80

Options :

1. Mean
Llele

2. Variance

- 2§50
3. Skewness
)| 5ed
3. % ;

4. Kurtosis

oL



Question Number : 49 Question Id : 7935232749 Display Question Number : Yes Is Question
Mandatory : No

The ™ order raw moment is
rh e8O8 S0 § 00

Options :

1. E(X — X)
1. %

3. B —-X)F
2. %

- 5 0
Lo E(X)

4. E(X)
4. ®

Question Number : 50 Question Id : 7935232750 Display Question Number : Yes Is Question
Mandatory : No

The value of probability lies between

AVOTALNITRRIDVEY SRS OO
Options :
. -wtow
1. #®
2. Otow
2. %
5. i )



4. -1to+1

Question Number : 51 Question Id : 7935232751 Display Question Number : Yes Is Question
Mandatory : No

The total probability of an experiment is
2.8 (33110 O30E). JNBO D05 ed

Options :

Question Number : 52 Question Id : 7935232752 Display Question Number : Yes Is Question
Mandatory : No

The idea of posteriori probabilities was introduced by
SFRFO HD02TI5ed @R e3¢5 TIND (DT DEI0
Options :

1. Laplace
AT



2. De Morgan
A *T°®

3. Pascal

4. Thomas Bayes
WSEAOWS

4.

Question Number : 53 Question Id : 7935232753 Display Question Number : Yes Is Question
Mandatory : No

.If A and B are two mutually exclusive events, then P(AlB) 1s
A 0005 B DO DGE)G0 (DB5E0N 0a1eden 00, P (ANB)

Options :

1. Zero
1.+

2. P(A) + P(B)

2. %

3. P(A)P(B)
3. k3

4. One
4, ®

Question Number : 54 Question Id : 7935232754 Display Question Number : Yes Is Question
Mandatory : No



The number of independent variables which vary freely without being influenced by the
restrictions imposed by the sample statistic to be computed

58,0038 a7 HET080 A0 20RO T 3T° [2TS0 TR0
2936500 S0 ) 36b0(eb TIITHO oy

Options :

1. Sampling

A
1, %
2. Distribution
DO
2. %

3. Population

. TP
4. Degrees of freedom
55)) By Shen
4.

Question Number : 55 Question Id : 7935232755 Display Question Number : Yes Is Question
Mandatory : No

A tune series consists of

DNOH (33 VeI EON S0ENOD

Options :

1. Two components
1 % DOCD 237TTeN

2. %



2. Three components
SDICR 2 TTrEeN

3. Four components

oo 2rren
3. v

4. Five components
« 9000 e

Question Number : 56 Question Id : 7935232756 Display Question Number : Yes Is Question
Mandatory : No

Factorization theorem of sufficiency is also known as

DOFQes TE), a350BNR VTOBR) 50 @90ErM

Options:

1. Cramer — Rao Inequality

B8 - 0% @9087deb

1.%
2. Rao — Blackwell theorem
o, %) - 2RO AT°0e50
3. Cauchy — Schwartz Inequality
W - % 50 e90res
3. % -

4. Fisher — Neyman theorem

A DD - VAITR D050



Question Number : 57 Question Id : 7935232757 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the Standard Error of the sample mean?
80& ¢3S 5rareds D0 Seurmr HXeN?

Options :

l.o

2. &

-

3. sqrt(c*/n)
3.

4. 1

Question Number : 58 Question Id : 7935232758 Display Question Number : Yes Is Question
Mandatory : No

The co-efficient of correlation lies between
QDT0D0E) DT-D0Qed NG EGOENOD

Options :

1. -oto @

2. 0toa

3. 0to 1



4. -1to +1
4.

Question Number : 59 Question Id : 7935232759 Display Question Number : Yes Is Question
Mandatory : No

If r =0, the two regression lines are
r=0 0N, BOCD B5KNS DEN

Options :

1. Perpendicular

E0O2000Y
1.9
2. Coincide
el OMT
2. %
3. Parallel
QAT0esSOm
3. 3
4. not intersected
DO BEW
4, %

Question Number : 60 Question Id : 7935232760 Display Question Number : Yes Is Question
Mandatory : No

The range of partial correlation coefficient is
oS8 AI0D0E) MHEIEO O30E) DO

Options :



1. -0 to

1. %

2. 0tow
2. %

3.0to 1
3. %

4. -] to+1
4,

Question Number : 61 Question Id : 7935232761 Display Question Number : Yes Is Question
Mandatory : No

. The range of Multiple correlation coefficient R is
26TVF QDard0D0E (HEIS0 R G30E), 00O

Options:

1. -0 to oo
’|_ W

2.0tow
2_ W

3.0to1
3. %
4 % 4. -1 to+1

Question Number : 62 Question Id : 7935232762 Display Question Number : Yes Is Question
Mandatory : No



The correlation co-efficient is mndependent of change of
QD000 eF-dePed, ) ANOE & 5B0(SOM 0N

Options :

1. Origin
N WEDTe)

2. Scale
2% 0O

3. Both origin and scale

- 00 $DOCIN WO DOGY

4. Neither origin nor scale
SO0 BT® WO 5D

Question Number : 63 Question Id : 7935232763 Display Question Number : Yes Is Question
Mandatory : No

Factor reversal test permits interchange of
530 05810 Bo 20T 025 XD €9es0EBN 0

Options :
1. base periods
20 DOOHE)
1. %
2. price and quantity
y QA6 DO DOSTEIO
2.



3. weights
AV (DY)

4. means of prices

58> e980

Question Number : 64 Question Id : 7935232764 Display Question Number : Yes Is Question
Mandatory : No

A life table consists of
28eb HE3E D3 EDN S0eN0d

Options:

1. six columns
e3¢5 QW) DN

2. Seven columns

. DR DEN) HAEN
3. Eight columns
2edod B DENGY cIIEN
3.¢
4. Nine columns
, SO QAN BDDEN

Question Number : 65 Question Id : 7935232765 Display Question Number : Yes Is Question
Mandatory : No



Vital rates are expressed as
§e08 Bew Qer $538560092F oW

Options :

1. percentages

Frea i)
1.%
2. per million
FAVDIOWN NN
2. ®
3. per thousand
2008
3.¥
4. per trillion
EREJELE
4.

Question Number : 66 Question Id : 7935232766 Display Question Number : Yes Is Question
Mandatory : No

The relationship between A.M . G.M and H.M i1s
AM. GM OGN HM D § Q0200

Options:

1. AM=GM=HM
1. %
, v 2.AM=GM=HM

3.GM zAM=HM
3. %



4 HM>=GM=AM

Question Number : 67 Question Id : 7935232767 Display Question Number : Yes Is Question
Mandatory : No

Probability of drawing a unit at each selection remains same in

& 0SS 2.8 AT AOHGO TE) D0rdsed  eFT G0N0
Options :

1. SRSWOR

2. SRSWR
2. &

3. Both (1) and (2)

4. Quota sampling
4% ey Sdurar

Question Number : 68 Question Id : 7935232768 Display Question Number : Yes Is Question
Mandatory : No

. Which of the following statement is true?

&2 80O ¢3S DA 2309

Options :

1. more the standard error. better it 1s
0006 [oTATESE S0, @O SHODO



2. less the standard error. better it 1s

B50).63 |aT3e88 €5°00, @90 SHODE

2.
3. standard error 1s always unity
. 5738 €750 D) I 2085
4. standard error is always zero
, (5738 7030 DY IET D)

Question Number : 69 Question Id : 7935232769 Display Question Number : Yes Is Question
Mandatory : No

Any function 1s calculated from the sample is called
DBV° HOE.Q T OB B8 0DDCNBAOD
Options :

1. Parameter
DT"ed

2. Statistic
A ek

. Population

o) B

sl

3. %

4. Sampling technique
S B8) 5



Question Number : 70 Question Id : 7935232770 Display Question Number : Yes Is Question
Mandatory : No

“Estimate™ and “Estimator™ are
"e90TIT" SNOCIN "IO0TIT® o3 eI

Options:

1. Different

2)c5), OA
1.v

2. Same
2 EEJE)S

3. both (1) and (2)
(1) DOC (2) DO

4. none of the above
D D B

Question Number : 71 Question Id : 7935232771 Display Question Number : Yes Is Question
Mandatory : No

Bias of an estimator can be
0T B VO DE b0 59T

Options:
1. Positive
295

2. negative

(D38



3. either positive or negative

Ly TR SO |DBETO
4. always zero
2)D5) )CAT D)
4, %

Question Number : 72 Question Id : 7935232772 Display Question Number : Yes Is Question
Mandatory : No

If an estimator Ty of population parameter © converges in probability to © as n tends to
infinity 1s said to be

2P DTS O GiE) W0 Ty (9500 n, infinity § THYES
N02PS365 0 @500, AR o 0TS,

Options :

1. unbiased

Qax )8 EDIE
1, %
2. sufficient
OO D
2. %
3. consistent
ENTPN
3.¢¥
4. unique
st
4, %

Question Number : 73 Question Id : 7935232773 Display Question Number : Yes Is Question



Mandatory : No

IfE{ t(x)}= 6. then t(x) 15 of 6.

Options :

1. a consistent estimator

VEDS @O
1, %
2. an unbiased estimator
L v Aar )8 8 eodor
3. a sufficient estimator
SN0ES 0TIT® 33 DT (R
3, %
4. an efficient estimator
QoD PI0HFDA 90TI®
4, %

Question Number : 74 Question Id : 7935232774 Display Question Number : Yes Is Question
Mandatory : No

Rejecting Ho when Hy is true, called
Ho Q230 ©9000a))¢ Ho Q e380)),80¢5¢%0 @0erd

Options :

1. Type I Error

IS0
1.+

2. Type II Error
DRI SHO



3. Sampling Error
ST S HO

4. Standard Error
A% ErSEE S°00

Question Number : 75 Question Id : 7935232775 Display Question Number : Yes Is Question
Mandatory : No

Accepting Ho when Hp 1s false. called
Ho €55 )17 €569 69)C%0 Ho Q) e90NE00TIC0, @903
Options :

1. Type I Error
B IS Ho

1.%
2. Type II Error
DI SHO
2.
3. Sampling Error
- SR 'O
4. Standard Error
L eSS S0

Question Number : 76 Question Id : 7935232776 Display Question Number : Yes Is Question



Mandatory : No
1- P [Type I error] is

Options :

1. Level of significance
(27058 PO

1. %

2. Size of critical region

S (2770650 DOHSTE0
2. %
3. Most powerful test
966065 4550eh0D DOS,
3. %
4. Power of the test
DO BN 48
4.¢

Question Number : 77 Question Id : 7935232777 Display Question Number : Yes Is Question
Mandatory : No

involves in Neyman — Pearson Fundamental lemma.

DT - DOHB IS HOBI0LO Bk B0EN0E.

Options :

1. UMP test
UMP H68,

2. F - test

,« F-00&



3. UMPU test

UMPU H68
3. E-

4. MP test

Lo MP HBE

Question Number : 78 Question Id : 7935232778 Display Question Number : Yes Is Question
Mandatory : No

. Which 1s one restrictional design?

A 2.8 QB0 BB

Options :

1. Completely Randomized design

IO AIFCHDNE BB

1. %

2. Randomized Block Design
- OWEARTARFAN L@ VAN

3. Latin Square Design
L e7¢3Q W 50 BB

4. Split - Plot Design
. )8 - T BB

Question Number : 79 Question Id : 7935232779 Display Question Number : Yes Is Question
Mandatory : No



The distribution function F(X) 1s
DONED DOESF (x)
Options :

1. p(X=X)
1.4

- 2. p(X=x)

3 % 3. p(X=X)

4.p(0<X<w)

Question Number : 80 Question Id : 7935232780 Display Question Number : Yes Is Question
Mandatory : No

The MGF of Binomuial distributions 1s
2N ONS HoNEFe B0E) MGF

Options :

L. (g +pe")™
1. #

2. g +pet
2. %

3. (g +pe)?
3. %

4. (g + pet)"
4, &



Question Number : 81 Question Id : 7935232781 Display Question Number : Yes Is Question
Mandatory : No

If Mean(X) = Variance(X). X follows
D (X) = 350 (X) @083, X 29000000

Options :

1. Binomial distribution
B LD DO

2. Poisson distribution

- PO DODED

3. Normal distribution
PP DO

4. Uniform distribution

5B} HODED

Question Number : 82 Question Id : 7935232782 Display Question Number : Yes Is Question
Mandatory : No

In Negative Binomial distribution, the relationship between mean and variance 1s
DBET B £ DOV, HIEN SHBOIN o550 5 N30

Options:

1. Mean > Variance
dfen> [0



2. Mean = Variance
00 = JDGSO

. Mean < Variance
3. v @300 < JIDEEO

[N

[ _— i T}

4. Mean = Variance =0
@00 < JIVP50 =0

Question Number : 83 Question Id : 7935232783 Display Question Number : Yes Is Question
Mandatory : No

The variance of a Binomial variable 1s
B D SO DBNE), H§EEsO0

Options :

1. np

) o 2. npq

s
o

4. 1-p

Question Number : 84 Question Id : 7935232784 Display Question Number : Yes Is Question
Mandatory : No



The mean of Geometric distribution 1s
Daortieded HoES ABNE), DEED

Options :

1. Np

2. npq

s w 3 P/q

2
. 4 p/q

Question Number : 85 Question Id : 7935232785 Display Question Number : Yes Is Question
Mandatory : No

. In Normal distribution. Skewness and kurtosis are

D3 HOVEFS . DD 0BG 0T Gr) 0N
Options:

L. f1=0p5,=0

2.0,=36,=0

3.6, <0,6,>0

4.¢



4 =00 =3

Question Number : 86 Question Id : 7935232786 Display Question Number : Yes Is Question
Mandatory : No

Which is symmetrical distribution?
DR HONEI O DaDeE3?

Options :

1. Exponential distribution
HrErod HooeS

1. %
2. Chi - square distribution
. D - 9GS DONES
2.
3. Normal distribution
PG DOVES
3. v

4. F distribution
4, % D:;‘E} Eﬁ'(:}?)}gfs

Question Number : 87 Question Id : 7935232787 Display Question Number : Yes Is Question
Mandatory : No

The range of F-variate is
F- 3050 Q308 0O
Options:

1. ®



1. -0 to®

2. 0rfn o
2.

3.0t01

4. -ato +a
4, %

Question Number : 88 Question Id : 7935232788 Display Question Number : Yes Is Question
Mandatory : No

Histogram 1s used to calculate
e (T B8, 0098 e5dABrN0TI) O

Options :

1. Median
SEED

2. Arithmetic mean

e00&Meded O
2. %
3. Mode
=26
3.¢

4. Correlation
I erAlelnle)



Question Number : 89 Question Id : 7935232789 Display Question Number : Yes Is Question
Mandatory : No

Mean 1s the measure of

DHED B Fedes

Options :
1. Location
J°0
1. ¢
2. Dispersion
5o
2. %
3. Correlation
DIPR0D00
3. %

4. association
TN AGMIA TS

Question Number : 90 Question Id : 7935232790 Display Question Number : Yes Is Question
Mandatory : No

Ifa constant 10 15 added to each value of a set. the mean of the set is

2,8 6 B8} (D Denidd DR 10 SB0S2EB, e TBws), diew

Options :

1. Zero
1% Q™)



2. not affected
s % (00270e50 5°CD

3. decreased by 10
3, % 10 5005

4. increased by 10

10 0RO
4.v

Question Number : 91 Question Id : 7935232791 Display Question Number : Yes Is Question
Mandatory : No

Two random variables X and Y are said to be independent 1f
DOC) OSPCIHR)E 300HNO ) X SOOI Y &0 & 350(0TT )TN

Options :
1 % 1. EXY)=0

2. EXY)=E(X).E(Y)

3. EXY)=1

4. E(XY) = any constant
4, %

Question Number : 92 Question Id : 7935232792 Display Question Number : Yes Is Question
Mandatory : No



If X is a random variable. then E(e™) is

X 2,8 05rG90)E S8ah2nS @0, E (e%)
Options :

1. Characteristic Function
& 20 HOE D

2. Moment Generating Function

SO0 2350300 HOED
2. &
3. Cumulate Generating Function
. BOVE30R HOESD DanEBOI0E
3.
4. Distribution Function
HoSES Dok S
4. %

Question Number : 93 Question Id : 7935232793 Display Question Number : Yes Is Question
Mandatory : No

Chi-square test 1s used to test
D-2.50 HOE.0 DB 0T RE &I AT
Options :

1. Goodness of fit
DE ABNE); SNODEBS0

2. Independence of attributes
& £7°0) D 5e50(550



3. Equality of several population variances

DS B2 DITBLIE DATed O
3. %

4. All of the above

DS B NV
4.

Question Number : 94 Question Id : 7935232794 Display Question Number : Yes Is Question
Mandatory : No

The relationship between mean and variance of y* distribution with n d.fis
ndfS D0 BN EN DO S50 0§ OO0

Options :

1. Mean = 2 * Variance
Qe =2 * JDP50

2. Mean = Variance
AIe = D50

3. Varnance =2 * Mean

3¢ BOOFO =2 * AW

4. None of the above
B ala) By

Question Number : 95 Question Id : 7935232795 Display Question Number : Yes Is Question
Mandatory : No



Among the following designs. which is two restrictional design?

808 BRI, A B ABY0Y BB
Options :

1. Completely Randomized design
FOROIg OV AR AR PN

1. %
2. Randomized Block Design
W ARTARFAR N 7RI
2. %
3. Latin Square Design
ere30 50 BB
3.¢
4. Split - Plot Design
236 - S GBS
4. %

Question Number : 96 Question Id : 7935232796 Display Question Number : Yes Is Question
Mandatory : No

. Kruskal — Wallis analysis of data is meant for

Boar S - O BeEr D3 o &R0

Options :

1. One — way analysis
S - DANED

1.4

2. Two — way analysis
BOCY -SP0 DBNED



3. Non- classified data

HOB8B0) Ter
3, %
4. None of the above
DD D B
4, %

Question Number : 97 Question Id : 7935232797 Display Question Number : Yes Is Question
Mandatory : No

The equivalent non parametric test for “Two Independent samples t-test™ i
"DOCH) ROFVOTOE F°000,) E3-BR" 50 AT 0 aFO(ESE B

Options :

1. Mann-whitney U test

DS-E3) U HBE
1.+

2. Wilcoxon — Signed rank test
o x E)N - T°508 HDOE B D050 DADDEOE

3. Kolmogrov -Smirnov test

55T -28) & D04,

4. Kruskal — Wallis test
BOO - O DOS,

4. %



Question Number : 98 Question Id : 7935232798 Display Question Number : Yes Is Question
Mandatory : No

If for two attributes A and B. N=140, (A) = 100. (B) = 105 and (AB) = 75. the attributes
Aand B are

A B0 B &% D0ch ©F £70) §00, N =140, (A) = 100, (B) = 105 HOOIN (AB) =75,
A DO B MHeen

Options:

1. Dependent

FDOTOE
1.%
2. positively associated
DB D000
2. ®
3. negatively associated
(23BTOTT D000
3. %
4. independent
Q550 b
4.+ i

Question Number : 99 Question Id : 7935232799 Display Question Number : Yes Is Question
Mandatory : No

(e

Stratified random sampling belongs to the category of

(W DE AT DY DE AT ST°VE TOOIE

Options:
1.4



1. Probability sampling
Q025 o

2. Non - probability sampling

D02TN5eH BR HedT0®

2. %
3. Judgement sampling
S350 Herro

3. %

4. Purposive sampling

) &S O

4.

Question Number : 100 Question Id : 7935232800 Display Question Number : Yes Is Question
Mandatory : No

NSSO means
NSSO @0T)

Options:

1. National Statistics Survey Office
2305 HEFOTE OB TT°LOON0

2. National Sample Survey Office

230D ST DV 3 T OHON0
2.v

3. National Statistics Survey Organization

BRSO 306 Y OB 30T BN



4. National Statistics Office
20D FEFOTO FT°EHANO



